

Results: North American QSO Party, SSB — August 2025

Last year a geomagnetic storm made for challenging conditions during the August North American QSO Party, Single-Sideband (SSB) event. This year Hurricane Erin and thunderstorms all over the country were the challenge. Several stations reported nearby lightning caused them to go off the air. Some had to deal with afternoon and evening storms and lost several hours of operating time as a result. The comments on <https://3830scores.com> can be summarized as follows: lightning, thunderstorms, hurricane, static, QRN, noise, and QSB, but we still had fun.

The Single-Op category had a three-way race for the top spot for much of the contest. Taking first with 235,614 points was Levi, K6JO. He managed to pull ahead with a 10-meter opening his competitors didn't have, netting him some valuable multipliers. Finishing second with 184,434 points was Mitch, K7RL, who managed to pull ahead of Jeff, N8II, near the end, leaving N8II in third place with 176,823 points. K6JO was also the top entry in the Single-Op Youth category.

The Single-Op QRP category had scores reasonably close compared to past years with one or two dominant scores. First place went to Mike, W7LG, with 3,612 points; Josh, W9HT, followed in second with 3,285 points.

In the Single-Op Assisted category, Fred, K9VV, operated KP2RUM to the top position, scoring 213,094 points. This is remarkable, since Fred had to deal with interference from Hurricane Erin — which was only about 150 miles away — for the entire contest.

Taking second was Manu, AC1NU, operating remotely in Maine with 195,286 points. Third in the category was Ty, K3MM, from Maryland, with 183,134 points. Ken, KØEU, who typically finishes near the top, took fourth place with 173,538 points, noting that this was one of his poorest finishes in a long time.

In the Youth Single-Op Assisted overlay group, Ian, K18AN, took the top spot with 29,565 points. Following in second was NP2R, operated by Mike, W3MLJ, with 22,494 points.

Taking the Single-Op Assisted QRP category was Ron, WQ6X, who earned 4,080 points while balancing his operating time with the Scandinavian Amateur Radio Teleprinter Group RTTY contest at the same time.

The weekend weather impacted the Multi-Two category, affecting which bands were open and even leading stations to shut down due to safety concerns or lack of power. Chris, N6WM, and Dave, WD6T, operated N6RO to a first-place finish with a score of 271,545. They noted that 10 meters barely opened for them, and that 80 and 160 meters were extremely difficult with the QRN and noise. Most of their work was on 15, 20, and 40 meters. Second place went to the team at KA4RRU, earning 240,200 points. Team members included KA4RRU, WA4PGM, WØCN, N2FT, K4GM, WC4J, and KD6AKC. With Hurricane Erin hitting Puerto Rico, the group at WP3C had many challenges to deal with, eventually forcing them off the air. Despite all that, they finished in third place, scoring 226,625 points. The operators

were AI, WP3C; Rafael, KP4WW, and Andy, KC2GOW.

The Team Competition had 45 teams consisting of two to five single operators per team. The AOCC Rough Riders finished first with 421,218 points. Following in second place was SFCG Sultans of Vox, scoring 389,855 points; SCC took third place with 235,614 points.

In the Combined Score competition, Mitch, K7RL, kept the top spot with 836 points, improving on his score from August 2024. Mitch finished 5th in CW and 2nd in the SSB event. In second place was Lar, K7SV, with 537 points. Lar took 19th in CW and 9th in phone.

Despite the conditions caused by the storms, it seems most participants had a good time and will be back for more. If you are looking for areas to improve, request your log-checking report from ssbnaqpmgr@ncjweb.com, and be sure to include the call sign you used during the contest. The next NAQP SSB event is on Saturday, January 17, 2026. Thanks to everyone who participated in the August NAQP, and we hope you will join us next January!

Combined CW/SSB NAQP Unassisted Operator Scores

Call Sign	Total Pts	CW Pts	SSB Pts
K7RL	836	445	391
K7SV	537	293	244
NA8V	503	355	150
KT3Y	500	500	0
K6JO	500	0	500
W2RQ	489	276	213
K5GN	478	478	0
N8II	471	96	375
N4OGW	451	451	0
VE3DZ	449	449	0

Single Op Top Ten Breakdowns

Call	Score	QSOs	Mults	160	80	40	20	15	10	Team
K6JO	235,614	1101	214	9/4	22/11	214/48	407/57	352/54	97/40	SCCC
K7RL	184,434	1042	177	5/5	43/16	180/48	432/57	379/48	3/3	Deep Dixie CC Team Elvis
N8II	176,823	999	177	19/12	150/35	311/48	326/43	174/32	19/7	
W7CXX (WA7LNW)	137,550	917	150	2/1	27/7	114/37	499/60	275/45	0/0	AOCC ROUGH RIDERS
W6AFA	127,840	799	160	0/0	43/11	215/48	346/54	192/45	3/2	
N4OO	125,615	679	185	14/11	104/30	254/46	184/47	102/34	21/17	SFCG Sultans of Vox
N7GP	120,000	800	150	0/0	23/15	167/44	420/55	189/35	1/1	AOCC ROUGH RIDERS
ACØW	118,570	835	142	1/1	41/25	397/56	368/49	28/11	0/0	MWA Lakers
K7SV	115,068	669	172	12/10	84/23	263/47	198/45	93/32	19/15	KCCC Chickens
W2RQ	100,492	679	148	0/0	100/27	255/46	176/37	144/35	4/3	

Single Op QRP Top Five Breakdowns

Call	Score	QSOs	Mults	160	80	40	20	15	10	Team
W7LG	3,612	86	42	0/0	6/5	47/17	30/17	3/3	0/0	
W9HT	3,285	73	45	0/0	5/4	34/23	21/13	13/5	0/0	
VE3GMZ	2,356	62	38	0/0	0/0	28/14	27/20	7/4	0/0	
K7DLX	2,337	57	41	0/0	0/0	16/9	21/14	20/18	0/0	
N3WS	1,855	53	35	0/0	0/0	15/10	29/20	8/4	1/1	

Single Op Youth (25 years old or younger) Breakdowns

Call	Score	QSOs	Mults	160	80	40	20	15	10	Team
K6JO	235,614	1101	214	9/4	22/11	214/48	407/57	352/54	97/40	SCCC
KQ4RCC (N1GNF)	2,555	73	35	0/0	1/1	58/20	8/9	5/4	1/1	CFARS Contest Group
W3MOH	640	32	20	0/0	0/0	15/11	8/4	9/5	0/0	
KR4EDR	195	15	13	0/0	0/0	5/4	10/9	0/0	0/0	
K8LG	42	6	7	0/0	0/0	0/0	6/7	0/0	0/0	
KO4FFA	16	4	4	0/0	0/0	2/2	2/2	0/0	0/0	

Single Op Assisted Top Ten Breakdowns

Call	Score	QSOs	Mults	160	80	40	20	15	10	Team
KP2RUM (K9VV)	213,094	982	217	0/0	39/22	127/45	381/61	278/53	157/36	FCG HYDROS
AC1NU (LU9ESD)	195,286	1073	182	13/10	87/26	339/55	491/50	137/37	6/4	
K3MM	183,134	889	206	22/10	112/34	436/55	174/53	121/42	24/12	
KØEU	173,538	933	186	3/2	52/28	263/50	503/60	107/41	5/5	GMCC Pikes Peak
NU4E	135,946	673	202	20/14	110/34	235/53	211/56	87/38	10/7	SFCG Sultans of Vox
NSØR	122,796	758	162	0/0	46/30	309/48	324/56	77/26	2/2	KCCC Eggs
WT9U	119,884	731	164	16/12	154/30	300/45	150/48	106/25	5/4	SMC_Hartley
WØSD (KTØW)	110,050	710	155	0/0	50/24	233/46	330/53	97/32	0/0	Flying Iguanas
K3DNE	105,410	635	166	14/11	115/27	221/44	197/48	77/29	11/7	SFCG Sultans of Vox
KJ4YLR	92,130	555	166	9/7	120/30	184/44	159/52	81/31	2/2	KCG Team A

Single Op Assisted QRP Top Five Breakdowns

Call	Score	QSOs	Mults	160	80	40	20	15	10	Team
WQ6X	4,080	85	48	0/0	9/3	33/12	24/18	18/14	1/1	SCCC
K4PPK	572	26	22	0/0	1/2	9/6	16/14	0/0	0/0	

Single Op Assisted Youth (25 years old or younger) Breakdowns

Call	Score	QSOs	Mults	160	80	40	20	15	10	Team
K18AN	29,565	365	81	0/0	1/1	271/41	60/26	31/11	2/2	TCG TEAM TWITTY
NP2R/4 (W3MLJ)	22,494	326	69	0/0	0/0	0/0	91/25	235/44	0/0	
NU1D	14,697	213	69	0/0	8/8	119/29	79/27	7/5	0/0	
KFØQFD	616	28	22	0/0	0/0	0/0	12/11	16/11	0/0	
KJ7AGQ	456	24	19	0/0	0/0	0/0	20/15	4/4	0/0	
NC8R	432	27	16	0/0	0/0	0/0	27/16	0/0	0/0	
W8LBR	198	18	11	0/0	0/0	4/4	14/7	0/0	0/0	

Multi-Two Breakdowns

Call	Score	QSOs	Mults	160	80	40	20	15	10	Team
N6RO	271,545	1263	215	14/9	52/20	282/52	483/61	403/59	29/14	
KA4RRU	240,200	1201	200	17/13	185/40	450/57	455/50	86/34	8/6	
WP3C	226,625	1225	185	0/0	0/0	132/35	540/56	404/55	149/39	

Team Scores

1. AOCC ROUGH RIDERS		2. SFCG Sultans of Vox		3. SCCC	
W7CXX	137,550	NU4E	135,946	K6JO	235,614
N7GP	120,000	N4OO	125,615	N6HD	69,426
KC7V	84,018	K3DNE	105,410	K6NR	37,774
N4ZZ	79,650	WN4AFP	15,015	N6VOH	5,194
Total	421,218	Total	7,869	WQ6X	4,080
		Total	389,855	Total	352,088

Team	Operators	Total
4. GMCC Pikes Peak	KØEU, KØUK, N4VI, K16QDH, N7WY	339,942
5. FCG HYDROS	KP2RUM, K4BAI, NE8P, J8AA, NF6P	334,530
6. Deep Dixie CC Team Elvis	K7RL, KVØI, N5EE, KA4HIM, K5KU	326,974
7. SMC_Hartley	WT9U, KC9K, N7US, N9OK, N9EP	307,574
8. KCCC Eggs	NSØR, NA8V, KØVBU, AEØMO	297,139
9. MWA Lakers	ACØW, KØAD, NØXT, KAØPQW, NØAT	254,301
10. NCCC #1	K6KM, K6GHA, AJ6V, WN6A	211,899
11. KCCC Chickens	K7SV, AI6O, K5QQ, NWØM, KØAP	204,904
12. PVRC K4 SSB SLUGGERS	N1RM, N3AM, KB3Z, N6DW, K3TN	187,265
13. KCG Team A	KJ4YLR, ND4Y, KC4WQ, KE4KY, KD4ULD	164,201
14. Team Win CFARS	KR4I, KB4D, WD4NC, NC4PB, KC4ABE	159,095
15. DFW Contest Group	AD5XD, NT5V, WA5LFD, K5ENS, K5LOL	150,135

16. FRC Team Alpha	AA3B, AA3R, AB2E	120,508
17. Flying Iguanas	W0SD, W9IZ, K9NW	116,230
18. SMC Colpitts	W9YK, W9QL, W9RE, K9WO, K9WX	107,402
19. FRC Team Kilo	K3TS, K3MD, K2RET	106,584
20. FRC Team November	N3AAA, N2NC, N2RC, N2HMM, N3DRV	98,554
21. GMCC Princeton Peak	N7MZW, W0ETT, W0PSY, KC0VDY, WC7S	95,929
22. PVRC Central VA #1	N3AC, K4XL, NN4RB, N4IW, NJ4Q	94,820
23. NCCC #2	N3RC, W6FB, N6XI, K7GK, K6ST	94,264
24. GROWLERS	N2BJ, W9ILY	78,340
25. WR5O and His Pack of Losers!	WR5O, K5NZ, K5BG	60,506
26. TCG USB	K3IE, N4MCC, W4NZ	48,277
27. Boiled Owls	KS2G, K0BSCA, N2YBB	45,792
28. Braille Team	KW3A, KB8TYJ	42,760
29. FCG JETSTREAMS	WS4AM, KG2MM, WN3DX, WB4UBK, KQ4Y	41,515
30. SFCG Birds of Prey	KZ3P, W4ANT, K4QQG	37,368
31. TCG LSB	K0EJ, W0AG, K4DXV, K3FH	34,538
32. KCG Team B	KM4CH, KM4FO	33,360
33. Lake Area Radio Klub (SD)	N0SD, N0DL, KE0EPY, K0ATY	32,200
34. PVRC Central VA #2	N3MN, N4QWF, KE4CR, N3CW	29,382
35. Deep Dixie CC Team Magnolia	K5TS, KT4Q/KL7	28,932
36. FRC Team Whiskey	W3FIZ, W3JZ	26,387
37. YELLERS	WA9LEY, K9GA	23,580
38. NCCC #3	AE6Y, W6SX, K6ELE	22,094
39. AOCC DESERT RANGERS	K7JQ, KM7N, KE6K, K9SAT	17,171
40. CFARS Contest Group	KB4LOA, KQ4RCC, KQ4FNO	12,227
41. SMC Pierce	KC9EOQ, K9LA	10,583
42. NPARC Talkers	K2AL, K2YG	8,887
43. GMCC Longs Peak	N3ZZ, W0ZA	7,610
44. TDXS	AJ4F, N5DTT	6,841
45. Big Sky Contesters	KJ9C, WN7Y	6,522

Line Scores

* QRP

Single Operators

Call	Score	QSOs	Mults	QTH	Team	Call	Score	QSOs	Mults	QTH	Team
K1TR	17,440	218	80	NH		K1EFI	3,354	78	43	MD	
N1SFE	17,301	219	79	CT		W3WC	2,664	72	37	PA	
W1GRL	7,320	122	60	ME		*N3WS	1,855	53	35	PA	
KC1QEM	3,645	81	45	MA		K3MVT	1,716	52	33	PA	
W1FJ	3,276	78	42	MA		KC3WRP	1,518	46	33	PA	
AC1UW	1,632	51	32	NH		K3GW	972	36	27	PA	
N1ADX	1,518	46	33	MA		KC1FWU	836	38	22	PA	
K1AV	1,320	44	30	RI		W3MOH	640	32	20	PA	
N1DC	1,288	46	28	MA		K2EJ	176	16	11	MD	
K1BIF	357	21	17	VT		N3UP	77	11	7	DE	
K1SM	242	22	11	MA		WA3ENQ	77	11	7	PA	
W1MJ	234	18	13	MA		KD3CR	9	3	3	MD	
KC1FOZ	176	16	11	NH		N4OO	125,615	679	185	GA	SFCG Sultans of Vox
K6RO	144	16	9	ME		K7SV	115,068	669	172	VA	KCCC Chickens
AB0YT	84	12	7	MA		KR4I	80,884	554	146	NC	Team Win CFARS
KC1UA	54	9	6	MA		K4BAI	49,278	382	129	GA	FCG HYDROS
K1RTO	0	-2	0	NH		KB4D	48,150	450	107	NC	Team Win CFARS
						WS7X	46,729	563	83	FL	
W2RQ	100,492	679	148	NJ		K3PI	31,195	367	85	NC	
N2MF	64,887	503	129	NY		K0EJ	30,528	318	96	TN	TCG LSB
N2PP	48,312	396	122	NY		KZ3P	22,848	224	102	SC	SFCG Birds of Prey
KS2G	31,584	329	96	NY	Boiled Owls	NF6P	20,680	220	94	FL	FCG HYDROS
WA2JQK	25,461	207	123	NY		K4EJ	17,472	273	64	FL	
N2NC	20,737	233	89	NJ	FRC Team November	KG3V	10,074	138	73	VA	
KA2FIR	8,364	123	68	NJ		K4TG	9,520	140	68	KY	
WA2GOT	5,936	106	56	NY		KB4LOA	9,384	136	69	NC	CFARS Contest Group
KD2REH	1,392	48	29	NY		NC4PB	9,089	149	61	NC	Team Win CFARS
KD2TNE	1,344	56	24	NY		W3DQS	8,760	120	73	NC	
AC4FD	1,102	38	29	NJ		W4ETA	8,591	121	71	TN	
KQ4Y	1,000	40	25	NY	FCG JETSTREAMS	KX4UI	6,976	109	64	FL	
K2DJF	779	41	19	NY		KK4PJ	6,076	124	49	FL	
KD2EFR	638	29	22	NY		W9TCV	5,700	95	60	FL	
N2OIG	550	25	22	NY		N8TP	5,096	91	56	GA	
N2LDV	525	25	21	NY		W4YE	5,005	91	55	VA	
WY1H	456	24	19	NY		K3YDX	4,984	89	56	NC	
AC2ZZ	414	23	18	NJ		K2WK	4,947	97	51	VA	
W2DXE	330	22	15	NY		KQ4FFP	3,672	102	36	TN	
N2NRV	252	18	14	NY		N3GB	3,220	70	46	FL	
*K2YG	225	15	15	NJ	NPARC Talkers.	K4TMC	2,982	71	42	NC	
A12U	180	18	10	NY		W0AG	2,970	66	45	TN	TCG LSB
AD2KC	49	7	7	NY		KY4UD	2,806	61	46	AL	
AC3LW	24	6	4	NJ		KQ4RCC (N1GNF)	2,555	73	35	NC	CFARS Contest Group
						W2ZDP	2,318	61	38	NC	
WB2ZAB	51,129	437	117	MD		AC2N	2,000	50	40	FL	
KW3A	28,785	285	101	PA	Braille Team	K4QQG	1,980	55	36	SC	SFCG Birds of Prey
K3AU (K2YWE)	20,224	256	79	MD		KD4ULD	1,617	49	33	KY	KCG Team A
KA3JNN	17,014	181	94	MD		NA4X	1,512	56	27	NC	
K3CT	16,017	281	57	PA		KB6QPI	1,504	47	32	FL	
K3UA	14,762	242	61	PA		WB4UBK	1,260	45	28	FL	FCG JETSTREAMS
KE3LA	9,750	130	75	PA		KM4SK	1,170	39	30	VA	
W3JZ	9,617	163	59	PA	FRC Team Whiskey	N4MMR	988	38	26	FL	
K3KU	8,236	142	58	MD		AA4DD	825	33	25	TN	
K3SNO	6,060	101	60	PA		*WR4I	630	35	18	VA	
WA3SRU	4,747	101	47	PA		K4DR	494	26	19	TN	
*W7LG	3,612	86	42	PA		W4DUK	345	23	15	VA	
						KW4GF	320	20	16	VA	

Call	Score	QSOs	Mults	QTH	Team	Call	Score	QSOs	Mults	QTH	Team	
K1HG	308	22	14	FL	CFARS Contest Group	K7RL	184,434	1042	177	WA	Deep Dixie CC Team	
WA2OMT	288	18	16	VA		Elvis						
KQ4FNO	288	18	16	NC		AOCC ROUGH RIDERS						
KN4ADM	266	19	14	GA		AOCC ROUGH RIDERS						
AD4IE	252	18	14	NC		GMCC Pikes Peak						
KR4EDR	195	15	13	SC								
KM4BMA	144	12	12	KY								
WA4JA	120	12	10	TN								
KR4CEL	96	12	8	VA								
AI4IC	70	10	7	TN								
K8RAR	16	4	4	FL								
KO4FFA	16	4	4	AL								
KK4CS	1	1	1	GA								
WA5JMZ	99,225	735	135	TX		DFW Contest Group	K7JQ	7,068	124	57	AZ	AOCC DESERT RANGERS
AD5XD	98,640	720	137	TX			W1DGL	6,161	101	61	AZ	
NT5F	84,252	708	119	TX			AG7KO	6,018	102	59	WA	
WA5SOG	45,820	395	116	AR			KJ9C	5,610	102	55	MT	Big Sky Contesters
WR5O	44,625	357	125	TX		DFW Contest Group	KM7N	4,984	89	56	AZ	AOCC DESERT RANGERS
NT5V	38,064	366	104	TX	WR5O and His Pack of Losers!		KE6K	4,235	77	55	AZ	
W5TMC	28,952	308	94	OK	Deep Dixie CC Team	NG7X	3,652	83	44	AZ		
K5TS	28,830	310	93	LA	Magnolia	KB9LHT	3,510	90	39	AZ		
KD2KW	27,048	322	84	TX	Deep Dixie CC Team	N7WY	2,720	68	40	WY	GMCC Pikes Peak	
K5KU	15,057	239	63	LA	WR5O and His Pack of Losers!	KC7TY	2,646	63	42	WY		
K5NZ	15,045	177	85	TX	DFW Contest Group	NX7W (N7FLT)	2,646	63	42	MT		
WA5LFD	11,680	146	80	TX		*K7DLX	2,337	57	41	UT		
AA5UN	9,765	217	45	TX		N7LR	2,100	60	35	AZ		
AE5T	9,396	116	81	LA		WB6JJJ	1,537	53	29	OR		
K5DHY	5,390	98	55	TX		N7AME	1,395	45	31	WA		
AJ4F	5,304	136	39	TX		WN7Y	912	48	19	MT	Big Sky Contesters	
AF5CC	2,516	68	37	OK							AOCC DESERT RANGERS	
K5CBB	2,006	59	34	TX		K9SAT	884	34	26	AZ		
W5JMW	1,815	55	33	TX		KJ7H	660	30	22	WA		
KC5DCT	1,617	49	33	TX		W6AGZ	567	27	21	OR		
N5DIT	1,537	53	29	TX		K6ST	476	28	17	NV	NCCC #2	
*W9N	1,134	42	27	TX		W7MTL	468	26	18	OR		
K5WRN	1,058	46	23	TX		WB7QMR	270	18	15	AZ		
NS5H	1,032	43	24	OK		W7RSR	204	17	12	NV		
K5LOL	851	37	23	TX	DFW Contest Group	W7TX	195	15	13	ID		
K5BG	836	38	22	TX	WR5O and His Pack of Losers!	K7FWP	182	14	13	AZ		
W5JCC	748	34	22	TX		KC2ELS	154	14	11	WA		
K5OY	580	29	20	AR		*WC7S	96	12	8	WY	GMCC Princeton Peak	
N0KTB	558	31	18	TX		KK7NEV	64	8	8	NV		
NU5DE (N5KF)	480	30	16	TX		KK7HPM	63	9	7	UT		
N5WMQ	456	24	19	NM		W7OM	24	6	4	UT		
AI5OL	432	24	18	TX		K7RNJ	20	5	4	OR		
AI5YA	323	19	17	TX		KG7WFQ	1	1	1	WA		
W9ML	300	20	15	AR								
K7ZYV	120	12	10	MS		N8II	176,823	999	177	WV		
N5MUN	80	10	8	LA		NA8V	70,923	503	141	MI	KCCC Eggs	
KJ5KYB	36	6	6	TX		N8BV	38,985	345	113	OH		
KI5EWG	6	3	2	NM		KB8TYJ	13,975	215	65	MI	Braille team	
						N8WCP	4,550	91	50	OH		
						W8PEN	3,600	100	36	OH		
						WB8JUI	2,730	65	42	OH		
						KI8N	2,400	60	40	OH		
						K8LL	572	26	22	OH		
						W8LOW	416	26	16	OH		
						KD8NZF	374	22	17	OH		
						W8KNO	204	17	12	OH		
						AD8Y	170	17	10	OH		
						N8PMR	128	16	8	MI		
						KB8YGA	108	12	9	MI		
						K8LG	42	6	7	OH		
						K9BGL	89,640	664	135	IL		
						KD9VGV	24,108	294	82	WI		
						W9RE	21,728	224	97	IN	SMC_Colpitts	
						N9SJ	21,600	240	90	IL		
						KB9OWD	15,756	202	78	WI		
						NC9F (KØPG)	13,746	174	79	IL		
						K9LV	12,464	152	82	IN		
						KD9GY	9,072	189	48	IL		
						KA9W	6,222	102	61	IL		
						KB9YYM	5,992	107	56	IN		
						W9ILY	5,715	127	45	IL	GROWLERS	
						W9IZ	5,610	102	55	IN	Flying Iguanas	
						N9DJ	5,044	97	52	IL		
						K9GA	4,092	93	44	IL	YELLERS	
						*W9HT	3,285	73	45	IN		
						K8VGL	2,964	78	38	IN		
						W9DH	2,924	68	43	IL		
						WB9RCE	2,052	54	38	IL		
						KB9LGS	2,006	59	34	IN		
						K9LA	1,815	55	33	IN	SMC_Pierce	
						KC9JML	1,768	52	34	IN		
						WA9TMU	1,320	44	30	IN		
						KC9GLR	1,260	45	28	IN		
						AC9QM	1,232	44	28	IN		
						KD9WIF	986	34	29	IL		
						K9BN	910	35	26	IL		
						WB9PRG	345	23	15	WI		
						KD9VAG	304	19	16	IN		

Call	Score	QSOs	Mults	QTH	Team	Call	Score	QSOs	Mults	QTH	Team
WD9DAN	288	18	16	IN		KFØRQF	735	35	21	MO	
KW9A	150	15	10	IL		KCØVDY	722	38	19	CO	GMCC Princeton Peak
KE9BNN	143	13	11	IN		KBØTDW	513	27	19	IA	
K9MCM	110	11	10	IN		NØWLX	476	28	17	NE	
K9ELF	32	8	4	IN							Lake Area Radio Klub (SD)
*AF9J	6	3	2	WI		KEØEPY	396	18	22	SD	
						KØVH	304	19	16	MN	
ACØW	118,570	835	142	MN	MWA Lakers	ADØYL	252	18	14	MO	
KØUK	97,595	655	149	CO	GMCC Pikes Peak	NØVRM	247	19	13	MN	
WNØG	69,360	510	136	IA		K6ACV	238	17	14	MO	
KØAD	60,957	521	117	MN	MWA Lakers	KGØE	204	17	12	MN	
NØXT	52,767	451	117	MN	MWA Lakers	KØVO	198	18	11	MN	
KØEA	43,260	412	105	MN		KFØUJF	150	15	10	MN	
WDØT	43,152	372	116	SD		KJØP	132	12	11	MN	
N4VI	36,424	314	116	CO	GMCC Pikes Peak	NØJNM	110	11	10	MN	
WØIZ	32,032	416	77	CO		KEØCFR	104	13	8	CO	
K5QQ	31,188	339	92	MO	KCCC Chickens	WBØICT	99	11	9	KS	
WØETT	30,996	287	108	CO	GMCC Princeton Peak						Lake Area Radio Klub (SD)
NWØM	26,016	271	96	MO	KCCC Chickens	KØATY	0	0	3	SD	
					Lake Area Radio Klub (SD)	VE3NNT	8,710	130	67	ON	
NØSD	24,940	290	86	SD		VA4ADM	8,580	195	44	MB	
AIOY	18,480	264	70	ND		VA6RCN	7,847	133	59	AB	
KAØPQW	13,575	181	75	MN	MWA Lakers	VE1RM	5,985	133	45	NS	
AFØF	9,216	144	64	KS		VE7MHI	5,544	99	56	BC	
NØAT	8,432	136	62	MN	MWA Lakers	VE3TM	4,717	89	53	ON	
					Lake Area Radio Klub (SD)	VA2KD	3,952	76	52	QC	
NØDL	6,864	143	48	SD		VE3RVZ	3,542	77	46	ON	
KCØIUJY	5,459	103	53	KS		VA3CBU	3,403	83	41	ON	
NØUY	4,698	87	54	MN		*VE3GMZ	2,356	62	38	ON	
WØBR	4,368	84	52	KS		VA7LEC	2,030	58	35	BC	
N3ZZ	3,960	88	45	CO	GMCC Longs Peak	VE9RLW	1,904	56	34	NB	
N9ARX	2,232	62	36	NE		VE2IAA	1,740	60	29	QC	
K6HU	2,160	60	36	MO		VE7BGP	644	28	23	BC	
KCØINP	1,972	58	34	MN		VA3PNL	108	12	9	ON	
KØJJM	1,860	60	31	KS		VA6MA	30	6	5	AB	
KFØUR	1,798	58	31	CO		VE7PAE	30	6	5	BC	
WØYJT	1,470	42	35	KS							
WØDCN	1,350	45	30	IA		ZF2VE	68,198	559	122	ZF	
KØLTL	1,012	44	23	MN		XE2S	240	20	12	XE	
KIØMZ	1,012	46	22	CO							
AEØVC	989	43	23	CO		TAØC	35	7	5	DX	
KØEWS	945	45	21	IA							
WDØFHK	888	37	24	KS							

Single Operator Assisted

* QRP

Call	Score	QSOs	Mults	QTH	Team	Call	Score	QSOs	Mults	QTH	Team
AC1NU (LU9ESD)	195,286	1073	182	ME		N3AM	49,209	349	141	MD	PVRC K4 SSB SLUGGERS
WJ1U	72,884	532	137	NH		N3AAA	44,460	342	130	PA	FRC Team November
K1JB	33,396	276	121	ME		WA3AER	35,640	324	110	MD	
NU1D	14,697	213	69	ME							PVRC K4 SSB SLUGGERS
K1BZ	8,856	123	72	ME		KB3Z	30,740	265	116	PA	
K1MT	5,280	110	48	MA		N1EK	20,448	213	96	MD	
K1TTW	4,888	104	47	VT		W3UL	17,835	205	87	PA	
AA1N	3,626	74	49	MA		K3ANI	17,073	271	63	MD	
KB1RVU	3,080	110	28	CT		W3FIZ	16,770	215	78	PA	FRC Team Whiskey
W1EYZ	1,836	54	34	MA		K3MD	15,004	242	62	PA	FRC Team Kilo
KA2KON	1,428	51	28	NH		WA3KCP	10,164	132	77	PA	
W1SFS	342	18	19	ME		AC5XK	8,614	146	59	DC	
					FRC Team Alpha	N3TCR	6,903	117	59	MD	
AA3R	46,434	426	109	NJ		W3DX	6,018	102	59	PA	FCG JETSTREAMS
WA2QAU	43,290	390	111	NY		NC3Y	5,300	100	53	MD	
WA2DNI	36,630	333	110	NY							PVRC K4 SSB SLUGGERS
AB2E	20,488	197	104	NJ	FRC Team Alpha	K3TN	4,992	96	52	MD	FRC Team November
KD2DLL	17,507	287	61	NY		N3DRV	2,944	64	46	DE	
N2RC	15,372	183	84	NY	FRC Team November	NW3L	2,109	57	37	MD	
N2HMM	15,041	169	89	NJ	FRC Team November	N3DUE	1,813	49	37	MD	
WO2T	11,232	144	78	NJ		N8IVN	1,170	45	26	MD	
K2RET	9,928	136	73	NJ	FRC Team Kilo	W3RGA	792	33	24	PA	
KO8SCA	8,904	159	56	NY	Boiled Owls	K3FH	286	22	13	PA	TCG LSB
K2AL	8,662	122	71	NJ	NPARC Talkers.	KD2LNQ	64	8	8	DE	
W2NO	7,448	98	76	NJ							
N2YBB	5,304	102	52	NY	Boiled Owls	NU4E	135,946	673	202	SC	SFCG Suitans of Vox
K2ZR	5,240	131	40	NY		K3DNE	105,410	635	166	SC	SFCG Suitans of Vox
KA2WIK	3,640	91	40	NY		KJ4YLR	92,130	555	166	KY	KCG Team A
KB2URI	1,764	49	36	NY		N1RM	83,324	563	148	VA	PVRC K4 SSB SLUGGERS
WB2PJH	1,696	53	32	NJ							AOCC ROUGH RIDERS
K2PTC	1,683	51	33	NY		N4ZZ	79,650	590	135	TN	
W2MSA	1,488	48	31	NJ		K4OV	66,792	484	138	NC	
AC2FA	1,147	37	31	NY		ND4Y	53,700	358	150	KY	KCG Team A
KB2TDH	440	22	20	NY		NR4O	52,440	437	120	NC	
KE2D	225	15	15	NJ		KU8E	43,056	368	117	GA	
K3WW	165	15	11	NJ		N3AC	39,169	299	131	VA	PVRC Central VA #1
K2QO	20	5	4	NY		K5VIP	33,759	279	121	VA	
					FRC Team Kilo	K4MI	32,262	283	114	VA	
K3MM	183,134	889	206	MD		W4RN	29,094	373	78	VA	
K3TS	81,652	596	137	PA		KM4CH	28,245	269	105	KY	KCG Team B
WX3B	54,270	402	135	MD		K3IE	27,328	244	112	TN	TCG USB
AA3B	53,586	458	117	PA	FRC Team Alpha						

Multi-Two Scores

* QRP

Call Sign	Score	QSOs	Mults	QTH	Operators
N6RO	271,545	1263	215	CA	N6WM, WD6T
KA4RRU	240,200	1201	200	VA	K4GM, KA4RRU, KD6AKC, N2FT, W0CN, WA4PGM, WC4J
WP3C	226,625	1225	185	KP4	KC2GOW, KP4WW, WP3C
N4ML	206,832	1112	186	CT	N4ML, W4IPC
N3QE	195,840	1020	192	MD	N3QE, N3RTW, W2CDO
ND8DX	192,222	1062	181	OH	K8TCP, KC1KBF, KE8YJX, KE8YMU, ND8DX
W4MLB	156,772	1018	154	FL	AC4JU, K1ALC, K5LD, KO4JVE, KX4NM, N4KES, W4GPL, WJ4DX
K3CCR	88,033	583	151	MD	N3UM, W5MPB
WA3EKL	75,012	533	141	MD	K0OO, KB3VQC, N3DPB, W3URL, WA3EKL
VY2TT	37,183	361	103	PE	K6LA
N2QV	26,000	260	100	NY	N2BW, N2QV
WX8S	22,188	258	86	OH	KF8CEB, KL8X
AH7RF	21,141	261	81	KH6	AH7RF, NH6V
NW6P	19,285	203	95	CA	W9KKN, WX5S
K7VAP	17,143	217	79	WA	K7ANA, K7IPT, K7VAP
W8HCG	15,170	185	82	OH	K2KAR, N4HAI
K5LET	12,173	329	37	TX	KE4CPC, KG5CMS, KJ5HOY
VE7LFN	11,502	162	71	BC	VA7XU, VE7ANY, VE7CSI
W4TA	8,614	146	59	FL	K2BHS, KB8ESY, KN4YQC, N2SKH, N4GD, N4GRC
KX4AV	3,990	95	42	KY	KX4AV
W4CDA	1,650	50	33	KY	KJ4FMQ, KJ4ND
W2NPT	437	23	19	NJ	KR2H, W2DLT
K6JOB	391	23	17	CA	N6CIC, NN6U
K8YR	192	16	12	OH	KA8SBI, KE8WYV, KI0CT
N1SOH	143	13	11	MA	N1SOH, W1FM

Check Logs

AK0BC, K4NMR, K6ACW, KC2MBV, KC3KRZ, KE2EEQ, N0LFLK, N2YG, N6TQ, VE7NW, W0XM, W2VTB, WA9LJK, WC8VOA, WN8Y